Multiplicar Tres Polinomios (I)

DO

Ot

Simplifique cada expresion.

(—=8h* — B®)(3h° — 4h* — 6R°)(8h* — 4h* — 9R?)

(=9d* — &) (=7d° — 5d* — Td*)(—5d° — 6d* + d®)

(9K + 3k (—Tk* + 5k — 9)(—8k® — 4k* + 2k)

(w? — 5w)(Tw? — 3w — 6)(—8w* + 5w? + 3w?)

- (6h° 4 8h*)(5h* — 2h* — 2h?)(5h® + 6h* — 5h)
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Multiplicar Tres Polinomios (I) Respuestas

[\

o

Ut

Simplifique cada expresion.

(=8h* — h?)(3h° — 4h* — 6h3)(8h* — 4h3 — 9h?)
— —192h" + 328112 + 516A — 421010 — 4921° — 54R8

(9" - d*)(~7d* - 5d* — 7d°)(~5d° — 6d* + d°)
= —315d"* — 638d" — 589d'* — 391d"" + 264" + 7d°

(9K® + 3K (—Tk* + 5k — 9)(—8k® — 4k* + 2k)
= 504k% + 60k™ + 306k° + 528K° — 24k* — 54k3

(w? = 5w) (Tw? — 3w — 6)(f8w4 + 5w? + 3w?)
= —56w® + 339w — 241w’ — 309w° + 177w* + 90w?

- (6h° 4 8h1)(5h* — 2h3 — 2h?)(5h3 + 6h* — 5h)
— 150h" + 320K — 122K10 — 38817 + 44h% + 8OAKT
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